(8)

() Tt 3
eI 50,000
g T W 2.40,000
SRERCECHIEE 1.50.000
qded 1.40.000
&mw 1.60.000
EEER 2.15.000
LEE! 5.000
~ T =4 25.000
s F T T FR 15.000
A I FET (Dr) 2,00.000
B 12,00.000
Ao @i T e e A
G)  Fr 9 B 50 Fo A AN G & el F TEer anl
(i) 7% EifeT et 1 7 30% T o1 Ud e #
' 9% T TG AT |
(i) T O g F BT 10% T AT
(v) RO B 20% § =T AT |
(v) ¥ o SR O S A F2 9 G A9 @
q Wereg ! AU BT AT |
- i) 50,0005 gﬁwﬁmﬁ: st 1 . BT AT
i faftedt ¢ ud Rerfdy e qamd )
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BCM/D-16
CORPORATE ACCOUNTING-I
Paper-B(C-301
Sme ullowed o 3 hours] [Maximum \.xmmm..(,‘ ;30
Note : Artempt five questions in all. Question No. 1 is
compulsory carrying 20 marks. Remaining questions
carry 15 marks each.
Z7 99 797 3 F07 601 99T FEAT 1 S &1
20 % 1 g god & o gue &
(Compulsory Question) Aﬁwﬂl n.ﬁv
1. «a)  Write ashort note on Capital Reserve. 4
T HEE W g fewel ) 4
tby  What are bonus shares , 4
I AT FME 7 4
t¢)  Write a short note on Issue of Debentures as a collateral
security. 4
FE F s gy F w F e woag o
F | 4
(d) Whatis Amalgamation ? 4.
T B THIHIOT 47 & ° 4
(e) m.xEE.z the term Dividend. - 4
T ST A e w1 4
12489 _[PTO.



(2)

Prepare inasummarized form the balance sheet of the company

as per Companies Act 2013 - 15
ﬁﬂﬂwz@yﬁmoawéﬂﬂ%ﬁmﬂ%ﬂ%@mﬂ

TR HE . 15-

X Ltd. has an authorised capital of I 4,50.000 divided into
shares of X 10 each. The company purchased a building from
Y for 50,000, in payment of which, fully paid up shares were
issued. H.mboo shares were subscribed by the public; ¥ 5 called
up, payable ¥ 2 on application; ¥ 1 on allotment, 3 1 on first
call and T 1 on second call. The amount received was as

follows: . 15

12,000 shares  Full amount called up

2,500 shares 3 4 per share

1,000 shares % 3 per share

500 shares T 2 per chare

The company forfeited 1,500 shares on which, less than

4

) Shoro o peoste Dol . :
T s sldkie rreaw ICCC ((m. i rrMULr\ft:»LL (-.»ﬂm:»mwv me @Hr\wmupﬂ@

1y

the balance sheet.

X ffaez # 10 Bo I & ot § R T 4,50,000 5
HEFT TF 21 F ¥ Y § % 50,000 %1 w7 @l frga
mﬁa@ﬁﬁwﬁ@ﬂﬁ_ﬂﬂw.,Hm,oooﬂ&waa
%E%ﬂﬂmﬁawﬁﬁﬁ_wmﬂaﬁﬁ

12489

(3)

w_@ﬁﬁﬁﬂnﬁgﬂﬁﬂﬁw&ﬁgﬂﬁﬁs_

%wﬂ@ﬂd@ﬂﬂ%d“ 15
12,000 st al ® gof iy

2,500 st 3 4 iy ey

1,000 3fgr I 3ofy i

500 &fsr I 29fy ofar

ﬂaﬂmf,moo%wﬁﬁsﬂ@ﬂ@mﬁﬁ@ﬁ%zﬁ
%Waﬁﬁﬁﬂﬂﬂ%wﬂsﬁmﬂ_

(@ Write a short note on Issue of debenture for consideration

other than cash. 5
:ﬁﬂ%%ﬁﬁzﬂnﬂﬁﬁﬂqﬂﬁ?ﬂ:ﬂ
g feweft % | 5

(b) A L. Purchased the gz&:m for ¥ 1,98,000 from
B Ltd. The payment was made by issue of 13%
debentures of ¥ 100 each. Pass journal entries when : 6

(U Debentures are 1ssued at Par

(1) - Debnetures are issued at 10% discount.
@)  Debentures are issued at 10% premium.

T fifee 3 4 RifRs & 1,98,000 5o F 99T e
ITH 100 %o a1 13% %o 337 Reew 1) oy
HfafeaT %ty : : 6
O F T W@ Ru )

@ T 10% %% 0 Ry o]

() FTE 10% HfET w Re )




(4)

() XLtd. purchased fixed assets valued at < 25,00,000,
current assets valued at ¥ 8.00,000 and current liabilities
vatued at% 4,00,000. It agreed to discharge the purchase
price by issue of debentures of Rs. 100 each
at par . . -4
X fafree 7 T25,00,000 1 w@E g, < 8,00,000
o oo gt @ T4.00,000 F A SR F 6 |
T A & % 70 A7 92100 Ho drel RO &
%1 o foran T | 4

X Ltd. has paid up capital of ¥ 4,00,000 (T 10 per share;
T 8 paid up'. It has balances in the General Reserve < 2,00,000;
Securities Premium Reserve T 4,00,000; and Capital
Redemption Reserve ¥ 1.00.000. It capitalized its reserves to
make the shares fully paid up and then issued bonus shares in
the ratio of 1:2. Pass journal entries. 15
X ffRe % 9 4,00.000 =o F1 &0 $5ft & (Fo 10 FfT 3w,
% 8 uftrsiyr &) | #9175 o9 § R 39 WER § g
"9 Fo 2,00,000; A SR #9h Ge 4,00,000 qEr ¢l
ol T=rg Bo 1,00,000 | F7571 T T HAl 1 YoNBOT FT A
i sl &1 qole &R 1 AF @ 12 & AU H e i
Frrif fopm | STviet ofafteat 7 15

- What is purchase consideration ? Explain different methods of

calculation of Purchase ooumamamno:. 15

B9 g F AN ¥ 0 A aRie F T # R e
AT | 15

12489 | -.

On IstJanuary 2013, X Ltd. Issued 5.000. 11 Debentures
of X 100 each repayable at par at the end of three vears. It was
decided to set up a sinking fund for the purpose of their
redemption. Itis expected that investment will earn interest of
4%. Sinking fund Table shows that ¥ 0.320348 amountto ¥ 1
at4% in 3 years.

Assume that investments were realised at paron 31st December,
2015. On this date bank balance of the company
was < 4,25.000. The debentures were paid off. Give journal

entries. 15

TH T 2013 # TR fifRE 3100 5o A 11% 5.000
M&Qﬂﬂiﬂ@ﬂ@mﬁ%ﬂﬂ%ﬂmﬂ%ﬁ@ﬂﬁ_
AT F 0 R Bvs o e oty ga ) P o 4% e
fre 1 oA o | T e aife & oEr € 0.320348 %
FdsT 9 4% =9 27 97 399§ | 57 9 qfr & e o

,zmﬂﬂ%ﬂwn\ﬁwﬁwoaﬂw@%&ﬁm%mﬂ
ﬁﬁ_uﬁw@ﬂ@ﬁﬂmﬂﬁaﬁmcgﬁ_

I T T T | S wfafteg) 9t ) L5
(a)  State various vc:uo.mom for which amt. of securities
premium can be utilised. 5
AT /iRy w1l & v R e B v B
ST Wl B, FeE | 5

N

(b) Writea mw._on note on “Corporate Social Responsibility.”
e S STRate o g ol 5

Eam@u_ - [PTO.
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LI S

‘/’
(7)
(6) The following scheme of reconstruction was approved :
" dividend 5 ()  Equitysharesaretobe reduced to equal number of fully
C Explain the term dividend.
© @ _ 5 paid shares of ¥ 50each.
A I B A B
4 i) 7% Preference shares to be reduced by 30% and rate of
2012 was as (i) Y
. The balance sheet of A Ltd. as on 31st March
? dividend increased to 9%.
follows : i
()  Equity & Liabilities N | (i) Value of Land and Buildin gincreased by 10%.
Share Capital (v)  Debenture to be reduced by 20%.
h 5,00,000
5,000 share of X 100 eac - o1 300,000 (v Allfictitious assets and goodwill to be eliminated and
ference) of <100 eac ,U0,
3,00077% shares (Preference) . 000 balance to be used to write off patents.
6% Debenture o rt *1-  Further equity shares are to be issued for ¥ 50,000
Creditors E ! _ : ,
Total 12,00, 000 y for cash.
. Pass Journal entries and prepare balance sheet.
(@  Assets X ) e _
will 50,000 T RIS 1 31 71 2012 % fef v 57 g o -
Goodv ’
Land & Building 2,40,000 . (1 TEE O TR 4
Plant & Machinery 1,50,000 25 F
1,40,000
Patents T 100 To T 3,000 sy 5,060,000
Stock 1,60,000 | . }
100 Zo /1 7% 3,000 EClIEarac 3,00,00(
; 2,15,000 ’ T
Debtor T
Cash 5,000 6% FF A 2.00, 000
as
HVH.@:,BENQ mxmvwbm@m ‘ quooo ) @ﬂﬂ Naoou D_\.,.D
Discount on issue of shares 15,000 B . 12,00, 000
Statement of Profit & Loss (Dr.) 2,00,000
ol . | 12.00,000 124891 [PT.O.

_ 12489 |



(4)
7.  State and prove Baye’s Theorem. 15
99 % yHE B gl ofR R ) 15
8.  The probability that India wins hockey match against Pakistan is
La. If they play 3 test matches, find the probability that :
(a) India willlose all the 3 matches,
(b) India wins at least 1 test match,
(¢) India wins 2 matches. 3x5
g G ARG B U & 5SS @ e Y 3
gd ™ 3 A= A
(@) 9wRa & A &= A a A wfan
(b) wRA & FH | 39 1 ¥7 Sia @ wfreba
() W @ 2 ¥ s sRvE 3x5
9. The number of defects per unit in a sample of 330 units
manufactured product was found as follows : 15
No. of defects:| 0 1 2 3 4
No. of units : 214192 | 20| 3 1 ]
Fit a Poisson distribution to the data. (Given : e~4°=0.6447)
330 Srifed Al & OF T A i 3FE A 39 ¥ER 9 W
. 15
Ffedl # "em 0 1 213 4
Al B oHEn | 214192 | 20| 3 1
Uiae R 1 I9E S TG AR S B
(e B : &%= 0.6447)
12490
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BCM /D-16
BUSINESS STATISTICS
Paper-B(C-302

[Maximum marks : 80

Note : Attempt five questions in all. Question No. 1 is

e :

1.

compulsory. All questions carry equal marks.
Bl g gt % g A g gear 1 sifard &1 it get
& oF T &1
Compulsory Question (si¥arf gs+)
Write short notes on the following :
Fre w @y Tew ford
(a) Relationship between Mean, Median and Mode.
e, Aiftaw X FgaS § wE |
(b) Coefficient of determination.
SIURT ToTieh
(c) Splicing of Index Numbers
BEEICTNEEL:E]
(@) OgiveCurve
Tl g @ (AR 9)
(e) Assumptions of Normal Distribution. 4x5
e faeRr & AT | 4x5

What do you mean by Primary data ? Differentiate between
primary data and secondary data. What are different methods
of collecting primary data ? 3,5,7
gt st | SN w1 SihmE R 7 s qur fadew effel
F R W HK | GG imel @ gaivi H H iy Rt
P 7 . 3,5.7

12490
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(2)
3. Following is the data related to life of tubelight in hours
manufactured by firm X and firm Y.
Life of tube FirmX FrmY
in hours (Number of tubes) | (Number of tubes)
500-600 5 10
600-700 8 12
700-800 20 15
800-900 30 25
500-1000 20 15
1000-1100 15 13
1100-1200 2 10
100 100

Find coefficient of variation (C.V.) and indicate which firm has
more variability with regard to life of tublight.
w X Y g MR cgeaEd & seaea vl 7 far w2
T i S Y F a9 B RR & #1 cgaasel A otReRa

Ayw 5 7
g9 & w1 X w1 Y
de (42 A) | (g A owe) | (g @ )
500-600 S 10
600-700 8 12
700-800 20 15
8G0-900 30 25
900-1000 20 15
1000-1100 15 13
1100-1200 2 10
100 100
12490

15

15

(3)

What is Regression Line ? Why there, in general two regression

lines ? Explain. 5,10
ST YT R 7 ST YE iR & 4 ekl € ? s
) 5,10

Calculate coefficient of correlation by Spearman’s Ranking
method.

X: (13110 15116 15] 10 15

Y: |6 8] 10| 8 4 5 3 15

8
7
W # B R & we-wE e S| S |
X:113(10] 15| 16| 15} 10 8 15

Y: |6 8] 10| 8 4 5 7 3 15

In calculating cost of living index number, the weights used were:
Food 82, Rent 2, clothing 3'2, Fuel and light 1 and Miscellaneous
2. Calculate the index number in case of data where percentage
increase in the prices of the various items in 2005 over prices of
2001 were 40,75, 60, 35 and 80 respectively.

Suppose a business executive was earning Rs. 5,000 in the
base period, what should be his salary in the current period if his
standard of living is to remain the same ? 10,5
e e gEEE 91 & § e 9R 08 B T s 8Y4,
frmn 2, a9 3, du9 g g 1 ofR gy @t 2. G| gesis o
&, e R aegell @ Smar 7 fasa gis 2005 3 2001 &1
ga & wAa: 40,75, 60, 35 &% 80 & A1

AN AR U e % FREH Hl aoq oNER ay f
5,000 %. o1t IEH FF I a6 F 7 B Ta IFH EBA-HEA
H AEH @ o & 8| 10,5

12490
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Printed Pages : 2
BCM/D-16 ;
HUMAN RESOURCE MANAGEMENT
Paper—-BC-303

Time allowed : 3 hours] [Maximum marks : 80

Note : Attempt five questions in all. Question No. 1 is
compulsory to attempt.

e ;. FT GF g7 B qe7 1 & A SAvard 81

1. Explain the following :
=1 a1 are ST

(a) Difference between Human Resource Management and
Human Resource Development.

G HEEE 99 g AMg HqeEE e § o
(b) Contents of Job specification

Fd foftred & a9
(¢c) Objectives of Job Evaluations

FE BT B R
(d) Problems in Placement

QAT (FH | TM) d e

(e) Benefits of Promotion based on merit 5x4=20
Al & AR W qEa B 5x4=20

2. Define Human Resource Management. Explain its nature and
objectives. 4+5+6=15
A SEE G B URING B0 3 Tg 9 98%dl H v
£ 4+5+6=15

3. Write a detailed note on the challenges to Human Resource
Management. 15
qE WA e @ g © o R e R 15
12491 [Tum over

(2)

Discuss the steps involved in Human Resource Planning ina
business organisation. 15

% HaEids @A § AME GHEE FEeE Tl & aoe #] |
_ 15

Explain the concept of career planning. What are its advantages
and limitations ? 4+6+5=15
oty FrdieT sauRen # e #X | g aW g dEd @ § ?
4+6+5=15
Write anoteon : T2+TY2

@ Voluntary Retirement Scheme

@) Retrenchment.

fre oX e fog TVat+TY2
() wfes datgR @

() e

What is recruitment ? Discuss the recruitment process in an

organisation. 4+11=15

et o oF o ¥ ? u% e H wdt @ uihw @ s BT
4+11=15

Why training is necessary ? Discuss the various principles of
training. 7+8=15

greer & oaEs ¢ 7 uRwer 3 i Rt 1 ae B
7+8=15
What is meant by performance appraisal ? Discuss the modern
techniques of performance appraisal. 4+11=15
freqre gedie § @1 b B 7 e g # SngeE
T B aUT B 4+11=15

12491
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BCM/D-16
PRINCIPLE OF MARKETING
Paper-BC-304

[Maximum marks : 80

Note : Attempt five questions in all. Question No. | is

compulsory. All questions carry equal marks,

e e g ge @ g R ge ger 1 st &) et ge

1.

3% guT &

Explain the following :

= @ e Sk

@

(b)

(©

(d)

(©

Is marketing a science or an art ? Describe.
e OF RBEE B orerr wa ? gaRd
Objectives of market segmentation.

IR f9RRTETT & SReg i

Classification of labelling,

SERRT F BT AT |

Online Marketing.

SIS ferqor |

Meaning of marketing research.

R ergae @ s

What do you understand by Marketing ? Distinguish between
old and new concept of marketing.

Eﬂawﬂaﬁﬂﬁwwwﬁa%mﬁ%mﬁ%mﬂgﬂ
§ S WE B |

12492 | [Turnover




(2)

What is consumer behaviour ? What are the different

determinants of consumer behaviour.

SusirT @ger F § 7 Sl ader @ R Mulw @@ a9 @

¥
What do you mean by Product development ? Discuss the scope

of product development.

S e @ oy w1 EEd 8 Ak e @ v 8 @ s
FifeTe |

/.S:: factors do affect the price determination of a product ?
Briefly explain the process of price setting in practice.

U SO @ YW P B A @ FRe g a7 o |
T felRer s @t "R w9 @ @ ST

What do you mean by promotion mix ? Explain the main

components of promotion mix.

Gadd Mm@ oy F AR § 0 wad Piaw § ger weH A
e Hi |

7. Define physical distribution management. Discuss the decision
areas in the management of physical distribution.

s Rrereer seeer 3 ofvem SR | o Rerer 3w & orria
fow o are fofat @ & & BEEm S

12492}

(3)

What is marketing information system ? Explain the essentials of
good marketing information system.

R e gome 1 ¥ 7 O ores [AueH PEAl SR & SIEeTS
al P A Hig |

What do you understand by the term Retailing ? What are the
various forms of retail organisation ? Which formis popular in
India? .

FEdl ANR & oY R TN & ? GER Fed R e
$-HT AR ? N A BN W EW @ F ol Awhg ® 7

12492




Time allowed : 3 hours]

RolINo. ...corvrveenns 12493

Printed Pages : 3

Note :

Fe -

1. (a)
(b)
(©)
(d)
©

2.

BCM/D-16
BUSINESS LAW-1
Paper-BC-305
[Maximum marks : 80

Attempt five questions in all. Question No. 1 is
compulsory. All questions carry equal marks.

frdl ofe get # It Al g & 1 s &1 weht g
# o T &l |
Compulsory Question (sifart 5¢)
Explain the modes of revoking a Proposal.

TR B @ved B R s @ o @R

Describe the rules governing Ratification of contract.
HIFY & Yfeae gEfad e @ oSwE S|

What are the precautions in writing the Bill of Exchange ?
fafma e ferem & el B € 7

.m%gn. the rules regarding determination of Price in a

contract of Sales.

fesr e & o=rld T MERw & et R @ g
HITC |

Whatis Severability under RTTAct. 5%4=20
I & AUER & Sfafew & ofria g R
g7 . 5%x4=20

Explain the term Acceptance. Discuss the rules relating to
acceptance. When is the acceptance of an offer complete ? 16

Wigld = H Aren A digla 8 gt e @ ow
AT T H g FF O A § 7 16

12493 [Tum over




(2)

3. Define consideration. Discuss its essential elements. State the
exception of the rules that “An agreement without consideration
isvoid”. 16
s 1 o AR | SR & Sav & ae o o]
‘T st @ T @ 3 W e @ R # Iwid
FIFTT | 16

4. 'Whatis meant by ‘discharge of contract’ ? Discuss the various

modes in which a contract may be discharged. 16
IR @ T & H aced § ! O ofgE # Rhe-f & @
T R o s 7 16

5. Whatis Bailment ? Explain the right and duties of a bailee in

respect of goods bailed. 16
fig & 2 ? Foig A @ @aey § MY 6 & oeR
ARG & e FHR | 16

6. Define Negotiable Instrument. Explain the different ways in which
acceptor of a Negotiable Instrument is discharged from Liability.
16

Rt Ter AT 2 GRAT SR o Rt RET % amen 3
e o R e Roe & aRreiar o ale & 99 8 S
2? , 16

7. Whatdo you mean by “Transfer of ownership”. Give the rules
relating to transfer of ownership under Sale of Goods Act. 16
Wi s @ @ b 3 ? ag e ofitfm & s
wiE s § aeted FEl & awg Hikm 16

12493

(3)
8. Whoisunpaid seller ? Explain the rights of un unpaid seller. 16
TF S kT A9 8 ? o od ekl @ SRRl # SwiE i |

16
9. Writenoteson: . 8+8
(a) Disposal of Request
(b) Duties of Public Information Officer.
1 W ool R 8+8

(@) ogly @ MO
(@) % gEm dREd & wa |

12493
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BCM /D-16

FINANCIAL INSTITUTIONS
AND MARKETS

Paper-B(C-306
Time allowed : 3 hours] [Maximum marks : 80

Note : Attempt five questions in all. Question No.1 is

compulsory.

A FT G 59T HT ) 997 gear 16T &

1. (a) Statethefeaturesofa Qm«owowoa financial system.
U fqemiee faxia gomel @ g aared |
(b)  Differentiate between primary and secondary market.
M R e e 7 oY Tl |
(¢)  Whatiscredit creation ?
afee mﬂ M E?
(d)  Explain the features of government securities market.

T ARy g P RASvad s6ed )

(¢) Whatare development banks ? (5x4=20)
fepre % @ ¥ 7 (5x4=20)

2. “Financial markets and mzm:&m_ institutions play an important
role in financial system.” Do you agree ? Explain. (15)

Frmd 21 =1 oy wedg ¥ 7 guaEdy (15)

12494 . PTO.




(2)
Discuss the recent developments that have taken place in Indian

money market. (15)

TR A g A B & F g fame ol &y (15)

What do you understand by primary market ? Describe some
of the impcrtant developments that have recently taken place in

the primary market in India. (15)

TYE FOR § o9 R g9ER E P 9RG § s g § e

& 7 g weayl afeH § § g # ao wi (15)

What do you mean by SEBI ? Discuss its powers and

functions. : . (15

AR wiayfd wd Rt @2 (SEBI) @ o & w7 wawd B

EGEIREIESE IC el e e el L e (135)

Discuss the recent developments that have taken place in the
activities of Indian commercial banks. What are the challenges

ahead ? (15)

A gt S B ARl § e & ¥ g wemyet o
O HE B AT g @ E e (15)

Discuss the role of Reserve Bank of India in Indian financial

system. (I15)
(15)

12494

(3)
Discuss the role of All India Development banks in India. Explain
their operational and promotional activities. (15)
a § ofge AR fEm I A gftm womE w5t I
e AR Hades feirEt 3 e § gend | (15)

What do you mean by mutual fund ? Discuss SEBI guidelines
regarding mutual funds in India. . (15)
WEE W (e ©e) 4 & Aded 2 7 9 § e gel
% @ § SEBI & fRanfwdsll w ==t &) (15)

12494
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BCM/D-16
COMPENSATION MANAGEMENT
Paper-BC-311

[Maximum marks : 80

Note : Attempt five questions in all. mawu:..ea No. 1 is
compulsory. Attempt any four questions from remaining

e

HQ

eight questions.

HE T F/

T W e A1 T . 1 At &) awh o gel A8

Write shortnoteon : 4x5=20
e w gRw e g 4x5=20

(@) Compensation Policy

uiafhe iy

(b) Roleof compensation
gl W g

(© <o_5§w@m38oa Scheme
wWites fariEiy dism

(A Performonce Related mu»ux

A\~ PR PR S S HSERI-S LN, mp-A N

Feee Tfaa 3
(&) Minimum Wages

T "I

Explain the various components of total Reward System.
7ol aitciftes e & R geat & ao w1

Explain the various principles of compensation policy.

qﬁﬁ@a&ﬁ&%ﬂaﬂ&ﬂﬂgﬁ_

12499
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15
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(2)
. Explain the future trends in Compensation Management. 15

g g @ e geedl gdiat & ao BT 15
. Explainthe various methods of wage differentiation. 15
e woigl A R Rt @ At ) 15

5. () Difference between performance related pay and
competence related pay.

w&ﬂﬁwﬁﬁumﬁgﬁﬂ@m%mﬁzﬂwﬁ
(b) Skill-Based Incentive planand team incentive plan.
| P S siaed AoFT O WIE e AL
: 7Y+ 7%=15
. How the compensation for professional and R and D staffis -
détermined ? : 15
el e TR Gd R FHERa @ aReh & P $8
fan s @ ? 15

Explain the salient features of Minimum Wages Act,1948. 15
ﬁ%ﬁ@ﬂﬁ ﬂfm%nmmgﬁ%ﬂ%%@f

_ 15

9. Briefly explain Ea statutory provisions related to reward @mﬁB.
. , . 15
QRS e § gt Rt dafe graa @ /@y § e

| 15

12499}
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BCM/D-16

COMPUTERAPPLICATION
- PROGRAMMINGINC

Paper-BC (VOC) -305

[Maximum marks : 45

Note: Attempt any five questions selecting Question No. 1
which is compulsory.

-dle ;. ge7 qgew 1 at B oA & @ 30 gu #F wig T B

L0

(1)
(1i1)
@iv)

V)

vy

What do you mean by key words?

H 959 /@ ovH w1 R 37

What is the format of declaration of constant in "C"
Language?

'C' A SR W GO B e 27

What is the range of character data type and its storage
space? : ;

TR IE THR B R g 590 &) FH @) TR
87

What are logical operator and write its symbol?
AR AR F1 87 T S HawR Rl |

Write a syntax of while loop.

FEA U F e fifaw

Write printf statement in two ways/types (formatted/
unformatted)

Printf ReA= & § al&Awd (wriks emendes) §
foRed 1

2. Whatare different data types in C Language. Write its rangé

and bit storage with examples of format. 9

12506
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n

(2)
'C o RS T TR B9 @ 87 6 W B &
T B Oy e wiw Rag 9

What are different Arithmetic operator? Explain with
example. 9

ffe= TR ST B9 @ E? JEET giRd qaeEd | 9

What is syntax of if-else statement and switch statement with

example. 9
T, g Wedw qu Rgg R @ RRe Seede aRd
feRed | . 9
Write a program to print factorial of any number using functions
(defined scparately). _ 9
wE (Ao & oReiye) @ wEm we B denm @ e
FRIRTa & fam Rl | 9

What do you mean by structured data type and write its syntax
to declare structured data type in case of student variable? 9
TFE Ty TRy @ a7 and ¥ o wIw A0 @ e 7 e

TET TRY @ G| B @ e e e i | 9
What is pointer? Write a program to swap two number using
pointer. 9
Wigeer R B7 AT B IO BT A T H AS-Feal B
F g el 9
Write a program to display the content of a file. 9

uF TEd B e @ e & 3 R oo dm R 9

Write a program to sort any three (using if-else) number. 9

i
-

&) 9

12506 | Trans.
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BCM/D-16
COMPUTER APPLICATIONS
_ , Paper—-BC-306
Fundamental of data Base System-I

Time allowed : 3 hours] [Maximum marks : 45

Note : Attempt five questions in all. Question No. 1 is |

compulsory. All questions carry equal marks.

e ;R gig gel & 3u7 AT 999 Go 1 s &1 wift
geat & dFE T &1 .

Compulsory Question (3™ ¥¥7)

1. (@) Define the purpose of Normalization. 12x6=9
(b) Define all keys in DBMS.
(c) Listthe Rmﬁonm_mcm:mom of DBA.
(d) Whatdo you mean by data Redundancy ?
() What do you mean by the term data abstraction ?
() Whatisthe difference between an attribute and a domain ?
(%) Normalization® I N URwRE HIFT| 1%5x6=9
(@ DBMS & gt ¥eR & keys i |
(T DBA# R aRdt #it gt el |
(@) oiwe ofRE § o F e @ 7
(® = 3T SRR § NUH TN A © 7
@) & fAvar ok W B fig @ X T ?.

12507 . | [Turn over




(2)

2.  Differentiate between Traditional file based approach and data
base approach. . 9
WK B0 ST 959 adr 3¢ 39 oge ¥ ofdy saedlli 9

3. (a) ExplainArchitecture of DBMS. 4%
(b) Explainroie of DBA. 4%
(® DBMS & TiFHeFa] H I | 4%
(@ DBAF I Fameh | 4y,

4.  Compare and contrast of Hierarchical, Network and Relational

~ Models. 9
Ifieg, eas qu €EHWE Ry # g W@ Ay saei 9

5.  Explainvarious keys with example. 9
R TR & ol IEET died el | 9

£, (a) Canarelationship type have attributes ? State with example.

4%
(b) ExpalinIntegrity Rules. . 4%
(%) T HIT v A AT & T & ? I aied Fael |
4%
(@) ordew & Fw TRl 4Y;

7. Explain various types of constraints on relationship type of the
E-R model. -9
R Hiew & fabeT YR % g9 WAl @ aren H9

12507

(3)

(a) Whatis Normalization ? Why is it necessary ? 4,

(b)  Explain various Normal forms with example. 4,
(%) Normalization & F1 W B ? 78 4t ST9TF © ?

. 4Y,

@ R 9B $ Normal forms & IEEIET Hfed AT H | __

4

What is an E-R diagram ? Explain working of E-R model with the
help of an example of Railway system taking your own

assumptions. 9

¢ TR o o O R 7 2. R ifed 9 - 1 9o e

- AOTRA SRR A4 gU ST HREAIN % ST IT i |

9
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Printed Pages : 2
BCM/D-16
OFFICE PRACTICE AND
COMMUNICATION
Paper-BC (Voc) 305

Time allowed : 3 hours]

[Maximum marks : 60

Note: Attempt five questions in all. Question No. 1 is

qe :

compulsory. All questions carry equal marks.

P S VS R i yy g
& 3iF T €1

Explain the following in brief :
frfafae @ 98 § olv & -

(@) Centralized Office

PR FATd

(b) Filing-
BESIETL

(¢) Franking Machine
fehe o W=

(d) Word Processor
9= A

(2)

Define office and explain its main functions. 12
FrEiTE B RN B G T T B T | 12
Evaluate uooa:aw_gmon of office services. 12
T Jael B RS FOFEET Bied) 12

Evaluate decentralized filing system in a large scale office. 12

- geg TR 3 aEied § R SRiw0 S &R

HR | 12

Discuss different types of machines used in an office. 12

Faiea § mgE e At R R @ ade @ ae AR
. 12

What is a computer ? Discuss different types of computers.12

Ty F 2 7 HG B R g @ i FR 12

Discuss pointste be considered while communicating through
telephone. - . : 12

I W FRT $ 69 @F 3 A e H o s 12

Explain operation and use of scanner in office setup. 12

Fratag O & SR B GREe adl AR SR | 12

What do you understand by editing of documents? Discuss

(e) Photocopier
wRRe adid

@®  Office
FaE

12508

2x6

2x6

[Turn over

various components of editing.

12

TR B HUET | AH 1 AREE ¥? §e & R sl

F IJE A |

12508
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Printed Pages : 2
BCM/D-16
TYPEWRITING (Eng) (Theory)
- Paper—BC-306-Part-A

Time allowed : 2 hours] _ [Maximum marks : 40

Note : Lﬁmzﬁ, five questions. Question No. 1 is compulsory.
Ae : T 5T ) T q. 1 o &1

- 1. (a) Explainstencil -

wh & o H
(b) Write use of eraser, erasing shield.
WE AR Rff e & 50 e |
(¢) Writenoteon: .
(1) Correcting Fluid
T 3% TR W RS
(2) StylusPen
. wEeE W
(d) CarbonTypes, m%_.&b.
FE B FEK TER
(e) mxv_ms Electric Typewriter.
AT TEIRX T FRTL

(f) Whatisthe difference between spreading and squeezing in
Typing?

ﬁmﬁdma&mﬂ%ﬂwmﬂmﬁﬁdwg

2. g_mambqo_ﬁumw
AT =1 2 ?

Sm%. (Tumover

(2)

. Why we use carbons ? How it can it be made to last longer ?

FT B TANT & ol B § 7 5 o wvg a% ¥ &9
S ogHa 8 7

. Explain the methods of removing errors in a stencil paper.

VR T ¥ agRa 9% F@ @ o e ¥ 7

. Explain Gum coated paper method.

T W AR & aF S

. Explain the salient feature of Electronic typewriter.

RARMAF TR A ged Rdwad R

. How you will correct the error when paper is on the machine?

Ay AgheEl e TER &% HA 9@ I Wl WA ?

. What are the benefits of computer typing ?

FE W A A B 7 A E ?

. Write a letter from Nai Sarak Delhi-6, 26th Sep 2016 to the

manager of Sahitya Bhawan Agra regarding complaint of Goods
in Transit.

% weF Rel-6, 26 Rt 2016 B A¥oR Wik R Ry
T& (gibiE) @ AR awgel A Rrea i)

12509




RolINo. ...cccevvrrerenene A . H N m H c
Printed Pages:2

Time

Note :

7e :

1.

BCM/D-16
FIRE INSURANCE
Paper—-BC (VOC)-305
allowed : 3 hours] [Maximum marks : 80

Attempt five questions in all. Question No. 1 is
compulsory. All questions carry equal marks.

g G 9o @ guv S gv e 1 e &1 wh ge
P oFF T 21
Compulsory Question (ifart ¥s)
Explain the following : - 5x4=20
Preffeer 1 Rrecer Rivag - o 5x4=20
(a) Floating Policy
TARH dfferdt
(b) AveragePolicy -
olraa dfferht
(c) DefineFire Insurance
i it B ofafa Sif
(d) Cancellation of Insurance Policy
i el B | B
(e) Principle of Insurable Interest

WA B w R
Explain the different policies taken under Fire Insurance. 15

AR i B g o o g e dfefad @ ael| i

15

3. Explain the characters of ER. Insurance. 15
A dr A Retwaet = e S 15
12510 ~ [Tumover

(2)
mxv_&u the scope and risks of Fire Insurance. 15
A 7 F & R iRt W IwE m%wﬁ_ 15

Describe the Eoooaﬁo of effecting a Fire Insurance wo:o% 15
I G g FE A R w el Fifg 15

“Fire Insurance is a Contract of Indemnity and Good faith.”
Explain. ‘ 15

‘@ S el o wg R @ oo ) @ @R 15

Describe the physical Hazards in fire Insurance and explain the
methods of computing the premium for fire insurance. 15

A i B WP A F avi AR ok afe i B Rie vt
faifa s & A gwmEe . 15

Discuss the Eoimmon relating to Renewal, assignment and
cancellation ofa Fire Insurance Policy. 15
AT dm a3 e, i an w B @ EEET @
fadem Hifme 15

Discuss the procedure for settlement of claim under fire insurance.
15
%%wﬁaﬁﬂﬂﬁd%@ﬁﬂaw fadem #ifvr
15

12510




(4)
9.  Write short notes on the following :
(@) Automatic premium loan,

(b) Endowment insurance, and

(c) Actuarial valuations and premium calculation.

(%) w@arfer sitEm *,
(@) aREEn W, T :
(n) diwiftees YEET q KA H TR

12511 | Trans.

[Tumover
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Printed Pages : 4

BCM/D-16

INSURANCE, FINANCE AND LEGISLATION-1

Paper-BC-306

Time allowed : 3 hours] [Maximum marks : 80

Note : Attempt any five questions in all questions. Fi irst question

1.

is compulsory and it carries 20 marks i.e. 4 marks each
part. Attempt any four questions out of the remaining

questions carrying 15 marks each

wmﬁ%w%ﬁws@mﬁﬁ%ﬂﬁug%%ms
20 7F a7 & oraly 59w W 3 4 9w &1 99 ge A F §
I 797 Frg oF gE 15 o & 8l
Explain the following terms in reference to Insurance and
Legislation inup to 1 page length each
Ry ot &) e qu REE & ded § i 1 7S T
qh BT ,
(a) Laws of probability and insurance

qiRrpar e e & T
(b) Mode of loading for expenses

adl B R AR B &
(c) Nature of surrender value

aqder 4w Ui

(d) Premium calculation for Temporary insurance
(e) Automatic premium loan

12511 {rans. [Tum over




(2)

What do you understand from the Mortality Tables ? Critically
examine the various sources of information for construction of
mortality tables. Also explain different types of mortality tables..

el ARE & A F g9 & 7 uedar anrEl @ Frafer @ R
= w6 e Fifv

Describe the procedure of calculation of premium for life
insurance policies. Give illustration.

s dmn g & R diftas @ o B afE @ el S
JereT |

Explain the terms :
(a) reserve,and

(b) mcﬁ_%
Also explain the sources of reserves and surplus.

(%) o, J (@) JfAy <t B e FRT | dud e SRRy
% gl W are B

Describe the following :

(a) Methods of calculating reserve

(b) Explaindifference between surplus and ?omﬁ
(c) Mode of claim of payment

(d) Gross premium general considerations.
SESIRICAEINCR & i ki

(®) "=g @ ToET @ fafw :
(a) %ﬁmﬁ%w%m?ﬂ%ﬂg%ﬂ
(M) T TEE B g

12511

(a) oo SfEd wERer FEee |

(3)
Discuss the meaning and method of calculating Surrender Value
of an insurance policy. What are the various forms of payment of

Surrender Value ?

w G Ol B T g A T W o q R R

T T g & e B Rt 'y wn g 2

Explain the following : o

{(a) steps involved in retrospective and prospective reserve
computation; |

(b) Statutory regulation of reserve; anc

(c) Non-forfeiture value

i @1 e ST ¢

() usEgE T SRRTE wew oR f afuhkE w

(@) @99 &1 Y Frme; Qe

(M) BT T

Write short notes on the following E,@ to two page length each:
(@) Methods of distribution of surplus , |

(b) Mode of buying insurance cover for life

(¢) Marginadjusting.

T I TR A g @ 9 g foalted fafeg

(%) @fdw 3 e 1 R

(@) s & fo S ooy @led @ &

(M =l wEeE #w

HNm: A v [Turn over
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Printed Pages: 3
| BCM/D-16
ADVERTISING-II (i)
Paper-BC-305
Time allowed : 3 hours] [Maximum marks : 80

Note : \mzm.iﬁm five Q.:an:.w:z in all. Question No. 1 is

compulsory.

e :  FA g g 3 T S ger qew 1 g 8

1.

(i WhatisMedia Coverage ?
e &% T 8 7
@) Explain the role of Mela in advertising.
e & a3 & g &1 av A
@) What is Media Cost ?
fifew arr w8 7 |
(iv) Explain advantages of Radio advertising.
W R & o @ o AP
(v) Discuss in brief the problems in reaching rural audience.
Irfior Sl 9% TgER § oM arl HoAEal BRI Swe
T , 5x4=20
What do you mean by advertising media? How would you select
an appropriate media for your ad-campaign ? 15

fasma Arem @ oMY w7 9We € ? 9T o1 fase aifrem & Rie

, ﬁmﬁﬂﬂuﬁ%ﬂ@mﬁz.ﬁﬁw 15

12512 [Turnover




(2)
. Whatis Outdoor Advertising ? Discuss its types and advantages.

. 15
TR R @ R ? 3Es R el aur ant @ e i)
. ) , 15
. What do youmean by Exhibitions ? mxﬁmmz its advantages and
disadvantages. 15
Jedifal & ong T s B ? g9 At o &l @ avie i)
15
. Explain:
@ Micro-level Media Scheduling
(i) MediaFrequency. 8+7
ol g
0 T wR MW e
() e amfi . 8+7
6. What is Media Planning ? Discuss the factors affecting Media
Planning. . 15
difear Pl Far 8 ? AR Frdew & waiea F i st H
o B | 15
7. Whatdo youmean by Zo&w Scheduling ? Explain the main
considerations in Media Scheduling. _ 15
wifear grassar @ o 1 R 2 ? it e feiRa -
A W GF F R e 6 # ave | 15
12512

(3) |

8. What is Mail Advertising ? Discuss its advantages and
disadvantages. 15

. T e 7 ¥ 7 g @t aun el & ool B 15

9. Writeshortnoteon:

- (@) . -Stepsinvolved in Media Planning.

(i) Point of Purchase Advertising. 8+7
Hitre feaeft fafeg -
@) +Hia FEew § e

@) wa-fog fasme) . 8+7

12512
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BCM/D-16

ADVERTISING, SALES PROMOTION AND

SALES MANAGEMENT
Paper—ASPSM-306
Personal Selling and Salesmanship—I

- Time allowed : 3 hours] [Maximum marks : 80

Note : Attempt five Q:.S.:cxn in all. Question No. 1 is

e

1.

compulsory. All questions carry equal marks.
gl G g9 B geT @, 1 s &1 @ g & ofF
T 81 |
Write short notes on the following : 5%4=20
e R e R - 5%4=20
(a) Prospecting .
qeeT
®) Consumer market and its characteristics.
IOl SR 9 3 fdwad |
(c) Handling objections.
ST e

(d) “A good salesman can sell the products of even weak
organisation.” Discuss. -
‘g e fmadl G e & S W a9 e &1
Eeerifead .

(e) Typesofsalesman.

" Rerggtel 3 FER|
What do you mean by salesmanship ? Describe the elements of
personal selling process. 5,10

Rerasa @ oo F e ¥ ? Yafe R oben @ ol &
T B | ,‘

12513 [Tumover

(2)

3. Explain AIDAS theory of selling. 15
Repa 3 AIDAS Reart & v ) | 15
4. ExplainIdustrial Markets and their implications. 510

St TR ok IR Pfardt @ amen HRvm 5,10
5. What steps shoud be taken while mmﬂoamabm closing sale and
post sale activities? - S 15
st Repa qen Repa ST & 9 Al aRifRRE & Rafer Fa
g -6 Sl B e @A Al 7 15
6.  Discuss the objectives and importance of personal selling. 7,8
Yofre e 3 e o wEd @ RIS B 7.8
7. Explain the selling situations where ﬁonmon& selling is more
effective than advertising, 15
o fopg WRRERE @1 ool At @ afeea RBer e 4
tfes st 8 31 : 15
8. “Salesmen are born not made.” Discuss. 15
“Rrepga Y1 B § A A8 s ==t A 15
9. Whatare buying motives ? Explain various buying motives in
detail. ; _ 5,10
7 RE 7 ¥ 7 AR R 3 Fg R & Rwa o $fwg
5,10

12513
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OBCM /D-16
BUSINESS REGULATORY FRAMEWORK
Paper—-BC-301

Time allowed : 3 \&E\w\ [Maximum marks : 80

Note : Attempt five questions in all. Question No. 1 is

- compulsory. All questions carry equal marks.
e Fa W g7 F0Q) F97 G. 1 Aard 81 ah g B o
- g & |

1.  Write short notes on the following :
(i) Whatdo %op mean by voidable contract ?
(i) Explain the term ‘Public Policy’
(i) Explain the importance of consideration in a contract.
(iv) Differentiate between Agreement and contract.
(v) Explainthe various types of partriership.
(vi) Explain the term information and records under RTTAct.
P ¢ et R R
() =g el § onw @ wfmm § ?
() ‘@ A o A e B
(i) w @R § gfoed &1 TEE AHIIIA |
(v) AgF U ] & HeH AR B |
(v) Rt & R gar & e fike )
(V) oR & og orfufvam & ofrld guT U St A Bl

| AT FITT | |
12514 . [P.T.O.



(2)

What is proposal ? Explain the legal rules related to .vaovo@r
yEE F@ R ? oy @ o ot fam dweed

What do you mean by free consent ? Explain the rules related

to contract made by Fraud.

T qeAi @ oNuE a9 e B 7 Fue &) B T aiR |
Haftm Tl @ @ S |

Explain the various types of agreements expressly declared as
void.

3R fafte we & e 1 @ FiT S e &9 @ &Y A
fm g g

What is contract of Agency ? mx.ﬁ_&: the rights and duties of
Principal.

el 3 ARt @ @ aed R 7 P @ ol wd awe &
e HINT |

Define Pledge. Explain the rights and duties of pledger.

frdt @ aRei @i | PRt & Sl Td dxiedl Bl A
BT |

Define Partnership. How a partnership firm can be dissolved ?
e @ o BT o wEEr wH A F@ feufed fear o

gl & ?

‘Write short note on :
(i)  Partnership Deed

(i) Minor as a Partner.

(3)

Ty feopelt fafag -
() wEEN g
() oTIaEs AERER & &9 #|

What is RTI Act, 2005 ? Explain the main features of theAct.
Also mention the areas exempted under RTI Act, 2005.

AR & o aifefrm, 2005 @ & ? afufvew @ ge faRad
Y| oY & o orufram, 2005 B ST gE-UTe @
Jeag ol BT |

[12514]
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_ OBCM /D-16
CORPORATE ACCOUNTING-I
Paper-BC-302
Time allowed : 3 hours] [Maximum marks : 80

Note : Attempt five questions in all. Question No. 1 is
compulsory. All questions carty equal marks.
e s ol g e & 77 ) g e 1 i 1w
3 7% 7797 &
Compulsory Question (3w )
1. Write shortpoteon: .
e e g
(a) Difference between share and debenture.
iy @ A ¥ S
(b) Difference between reserve capital and capital reserve.
s T o Oofvm deE & e
(c) Bonus shares.
M9 A

= # TR § g9
{e) Purchase consideration.
() Internal Reconstruction.

w
w
u
u
u
w
»_&EmmanomEntpﬁ omnﬁnrmmn. u
w
w
w
N
e gRE 2

12515 © [Tumover




(2) .
(3)
What is meant by Buy Back of shares ? Mention the conditions

urchased a ot buyv back and the guidelines issued by securities and Exchange
_m

wEEEm from Y for
Y for purchage oozmwwwmmwmwoﬂ”“w““mﬂ? nw& shares to Board of India in this respect.
M%MMH MMW MMM Mymao.m ww%mEm 25 unde PPlications for the m m.wm. M ”%“43 g .Nm ;e 2 ? mg gudl B 9 oY 3@
pplication e § s wiowfe o Ry @€ g o g e Ran et
X 3 per share on Allotment . Bl Giced 16
%2 per share on F irstCalland 4. A limited company whese issued share capital on 31st March 2016
%2 per share on F inal call | consisted of 6,000, 7%. Redeemable Preference shares of
Alok who had been alloted 50() shares faj - 100 each fully paid and 20,000 Equity shares of % 100 each,
calls. His shares were forfeited and So,m ailed to pay both the T 80 paid mmu.amoama to redem preference shares ata premium
Harish, as fully paid up. Make neces ;m.:ma m.n w.o per share to 0f% 10 per share. The Company’s Balance sheet as on 31 March
Sary entries in the J ournal 2016 showed Revenue Reserve of T 5,00,000 and a surplus of

£ 59,000, The redemption was affected partly out of profits and

v partly out of proceeds of a new issue of 3,000, 6% cumulative
s 5,00,000 T H g g 3 - P .

, Tl H T & e preference shares of T 100 each at a premium of X 25 per share.

The premium payable on redemption was met out of premium

¢ 1 .
received on the new issues. On 30th september 2016, the

and also i
prepare the Opening Balance Sheet of the Company;

company at its general meeting resolved that the entire balance

%9 30,00
, o%w%@asmﬂﬂsﬁ_wm@ayy_wﬁ%
335 i onde oy AL o ‘ y .
3% oy o : of surplus on that date and part of the Revenue Reserve be applied
RAECES I T in the following manner :
23
2% IR aigr gey RIEE - rgc- oy (a) The declaration of the Bonus at the rate of ¥ 20 per share
M 2T oy sig v g O on equity shares for the purpose of making the said equity
SIE B1d 500 sigr IR By Mo & ge o shares fully paid.
f : _ » 9% ST ara & 3 - . . .
¥ o ) o S & & fry T s mﬂ A {b) The issue of Bonus shares to the equity shareholders in the
IR 9 st o Yolerrey § 37 Pl &7 o F= M e ratio of ene share for every four shares held by them.
- : ERCLHRERS O 1 mﬁ.miJW- . . . N
AR mﬂwa T B F arfE BT ot g «wm Pass the necessary journal entries in the books of the company.
12515 : 16
|
12515 {Tumover




S. Explainin detaj] -
(a) W&nﬂvmos of Preference Shares,
b) N&Q%z.o: of Debentures,
ey LEE o
(%) RSB sish a7 e
(@) womst 3 MY |

12515

i 'h,*

6. A compaoy has T 60,000, 5% Debentures outstanding on

Ist Aprl 2015 gnﬂg&nggwaogvmgga
stood a1 T 5C.0000 represented by ¥ 59,000, 3% Loan of the
Govt. of Indiz. The annual instalment added to the Debenture
Redempoion mﬁﬂmwwbwo.Onuwmﬁgﬁowwoaﬂrmw&maoo
at bank (after interest on investments had been received) was
< 15.640. On that date Eﬁmgga were sold at 83% net and
the debentures were paid off. |

Pass necessary journal entries and prepare leadger accounts for
the year 2015-16. | 16
L 389 2015 % @& w=wht 3 60,0003 5% oy LR IE
gﬁﬁﬁ%ﬁ%%boa«ﬁw&@ﬂﬁﬁ%&
59,000 F 3% 3w & fefraifre &1 somw M Y F i
fe7 8230 % W TR B 3] o 2016 # ¥ ofy s
(RFrat o7 == o7 =23 2 4w 15,640% 21 55 Rify 3 Rfvds
%mﬂ&.&ﬂﬁﬂ%ﬂﬁ&ﬁmﬁﬂﬂmﬁﬂ_

a$ 2015-16 3 Ry wﬂﬂm%%@ﬂﬁm&g%_ﬁ_

16
« Give journal entries in the books of T ransferee Company under
the following conditions : ‘
() The pooling of interests method.




(6) -

8.  What is Internal Reconstruction of Companies. Discuss different ” gy s, M= % FogE O = ATER Fl B Rigd Ja
modes of alteration of shares capital and reduction of share 1 B s % - 1
capital. v 16 e T |l=7 Cr.R)
ﬁﬂﬂ&&@ﬂg . giiaiT @ omg wm Wk ¥ 7 osiw @R § e et - e S T | 1000000
IR o Sageh § ol B Ry @ oA AR 16 u :
Fherd € #8s | 55000 | @i W 11,45,000
9. Prepare the Balance sheet of ac as per Schedule '] of _
pare : alance sheet o m ompany as pe mo: elll i 275000 | 6% 27.00.000
Companies Act, 2013. Following balances are given : , o _ e
‘ > 2 50000 | 3 fer S Lo
Accounts Dr. &) | Accounts Cr. ) g7 A7 30/ I
) ‘ i1 S Sl
Advances given 3,72,000 | Secured TormLoans | 10,00,000 T 225000 § 31 & ]
_ . . e ==T XSL000
Advances to staff 55000 | Trade Payables 11,45,000 =ez= Fuig 300000 | 7=
—_ 2
Cash and Bank Balance| 2,75,000 | 6% Debentures 27,00,006 =z gfaa 1225000 | =% T ¥ 200,000
Loose Tools 50,000 | Provision for Tax 1,70,000 R = o b TEE =
Investments 2235000 | Share Premium 475,009 A N PR LN | = s 20200
Profit and Loss Balance . s = I ¥sAn | TFF BT FEFA 5,00.000
(Lossses) 3,00,000 | Genzral Reserves 20,506,000 e o = , == ¥7 w%
Trade Receivables 1225000 | Loan from Debtors 2,00 000 ek 200000 | (30,000x10) 3,00,000
Miscellaneous Provision for- L
Expendi 58,000 ful deb 20200 B 750200 | qefrere Si¥ &
Expenditure 58000 ful debis 22200 = F
e : (10,000x100) 10,0000
Stores Items 400,000 | Provision for 550200 ‘ 0560200
depreciation 5,00.000 .
Plant and Machinery 56,5000 | Eguity Share
Capital
Capital work in (30,000<13) 3.00,000
Progress 2,060,000 | Preference share
Capital
Finished Goods (10,000=100) 10,00,000
Inventory 7,530,200
95,60,200 95,60,200

12515 | [12515]
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OBCM /D-16
COMPANY LAW
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Note : Attempt five questions. Question No. 1 is compulsory.
All questions carry equal marks.
AT : o g7 B g7 & 1 ofvard &1 @l g % o §
gl :
1. Compulsory Question:
et a

@

(b)

©

@)

Define Public Limited Company.

grEsTs O B g i

What is Quorum ?

FraEs qE H ;M AYG 8 7

Differentiate between equity share and Preference share.
e Se AR qEifee ofer F w@ oI R 7

Define Memorandum of Association.

e dafam & i ffa

(e) Define Members of a Company.
T HO S aaEl B aRew R
(f) Whatdo youmeanby Minimum subscription ? 16
_AH AR § SR @ S R 7 16
2. Define Company. State its characteristics. 16

o ) R AR gEe Rl @ s AR 16

3. Describe the procedure related to formation of a company. 16

3 T @ e Shem & A @R 16

12516
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(2)
Define the term Director. Discuss the powers and duties of
Director. , 16
YOS I P IR fTT | Gare S IRk o Fde i fade

PR 16

What do you understand by a ‘Resolution’ ? How many types of
resolutions can be passed by a company ? What are provisions
with respect to resolution ? : 16

TR QY 97 gUEa £ 7 U H9A! 3 99 F fRa yeR 3 yee
ﬁﬁ@nﬂﬁﬂmw:ﬂ&wmﬂ.&mﬁﬁﬁww 16

Define Member. How does a person become member of a

company and how does his membership cease ? 16
Tew P o DT | 0 AR T B OFEE B & § au
IS FEEA $H guT e § ? 16
Define Voting. What are various methods of voting at company’s
meeting. 16
TR P aRE R FEE @ geel § waem § G- @
gt g7 - 16
Define Articles of Association. Discuss the purpose and cornitents
cf Articles of Association. : 16
et ofafadt & s oo B ? go% el A oir vt @ e
FHIR | 16
What do you mean by Corporate Veil ? State the cases when it
can be pierced. . 16
U B GG 99 B 7 &8 ® ger of @l 8 7 16
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Note :

Students are required to attempt five questions in all.
Question no. 1 is compulsory. Attempt four more
questions from the remaining eight questions. All

questions carry equal marks.

Fe . qhErRET B g7 W 997 w37 &1 997 7. 1 oifard & 9
1S g & AT 997 SR Fforq @ T F % T 8
1 (1) What is memory storage for character and float data
type?
W T T I FERK B R R soewer w4 § 7
(i) ?mﬂ is difference between ‘&&’ and ‘&’ operator ?
‘&& T & AR F I9 T IR B 7
(i) Whatis use of ‘==’ operator ?
‘== R F ;T I § 7
(tv)  Write a statement to display long integer data type value.
TN PUlE RS TER I YN § e o e Rifag
(v)  Whatisuse of break in switch statement ?
Ree @2 d 5% & 3@ 7 7
(vi) WhatisArray ? - 9
RWami? 9
12529 |- (Trans.) PTO.



(2)
What do you mean by data type ? Explain the following data
type with range and memory storage :
() Character
(i) Integer
(i) Double data type. 9
HATHST THT § NUH 71 Al wqdmmaqm%qﬁa#q_ﬁWm
Frfafee sifmer ger @ arer #ivg

@ BT
@) s
(i) e IAEST WK . 9

Write a program to use of logical operator with an appropriate

example. 9
forel 1 9
What do you mean by control statement ? Explain if and nested
if with example. 9
e wue @ ouE T aned & ? 9w aia if ao IR if
A HITT 1. 9
Write a program to print name of month in a %own using
switch. ; 9
Raer @1 3yarT #%9 g 0 a9 § W @ W B W 3 R o
g fo i 9
Write a syntex to Add two matrix of MXn. 9

MXn & & i & 91 0 B R s arRia Rifaey 9

12529

(3)

7. Whatis difference between structure and Union Data type with

example. 9

FiforT | _ 9

8.  Write a program to read moB files and display on console. 9

e @ 05 ¢ a0 FO W R @ R we o R
; : 9

9.  Write a program to write roll no and name of student using

pointer. ; 9
WIZET H I A g BH & U A. TN 99 A @y d e

T T faiaa 9
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